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Section Questions Asked Maximum Marks

Reasoning Ability & Computer Aptitude

200 200General/Finance Awareness

Quantitative Aptitude

English Language

Total 200 200

RBI Grade B Exam Analysis 2021: Exam Pattern
The total duration of the exam was 2 hours.
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Section Good Attempts Difficulty Level

General/Financial Awareness

100-105 Moderate
Reasoning Ability

English Language

Quantitative Aptitude

Good Attempts 100-105 Moderate
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Topics No. of Questions Difficulty Level

Puzzles 15 questions Moderate

Inequality 4 Moderate

Syllogism (reverse) 3/4 Moderate (Lengthy)

Direction 03 Easy-Moderate

Logical reasioning 15 Moderate

RBI Grade B Exam Analysis 2021: Reasoning Ability
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Subject UR EWS OBC SC ST PwBD

General Awareness 16.00 16.00 12.00 10.25 10.25 10.25

Reasoning 12.00 12.00 9.00 7.75 7.75 7.75

English Language 6.00 6.00 4.50 3.75 3.75 3.75

Quantitative Aptitude 6.00 6.00 4.50 3.75 3.75 3.75

Total Score/ Aggregate 66.75 66.75 63.75 53.50 52.75 52.75

RBI Grade B Cut Off for Prelims 2019-20
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Section Category

GENERAL/UR EWS OBC SC ST PwBD

General Awareness (Maximum 
Marks = 80)

20.00 20.00 16.00 14.25 14.25 14.25

Reasoning (Maximum Marks = 6
0)

15.00 15.00 12.00 10.75 10.75 10.75

English Language (Maximum Ma
rks = 30)

7.50 7.50 6.00 5.25 5.25 5.25

Quantitative Aptitude (Maximu
m Marks = 30)

7.50 7.50 6.00 5.25 5.25 5.25

Total Score/Aggregate (Maximu
m Marks = 200)

122.00 122.00 115.50 108.00 108.00 108.00
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Q1. What is the sum of the numbers at both the 
ends in step III of the given arrangement? 
(a) 36 (b) 63 (c) 60 (d) 123 (e) None of the above 

Q2. Which element is 2nd to the right of the one 
which is 4th to the left element in step I? 
(a) 112 (b) 44 (c) 148 (d) 75 (e) None of these

Q3. What is the products of the numbers which 
is 3rd from the right end and 3rd from the left 
end in final step of the given arrangement? 
(a) 189 (b) 72 (c) 13.5 (d) 180 (e) No such step
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Six persons sits around a triangular table such 
that three of them sit at the corners and the 
rest on the middle of the side. The one who 
sits at the corner face away from the center 
and the one who sit at the middle of the side 
face towards the center. They also like 
different animals i.e. fish, dog, rabbit, pigeon, 
duck and cat. The one who likes fish sits at the 
corner. The one who likes cat sits immediate 
right to the one who likes duck. C sits 2nd right 
to B, who likes rabbit. D faces the center and 
sits 3rd right to the one who likes pigeon. E sits 
immediate right to D. F sits at one of the 
corner but does not like pigeon and cat. A is 
one of the person. E does not like Duck and 
Fish. 

छह व्यक्ति एक त्रिभुजाकार मेज के चारों ओर इस
प्रकार बैठे हैं कक उनमें से िीन कोनों पर और शषे
भुजा के मध्य में बैठे हैं। कोने पर बैठे व्यक्ति का
मुख कें द्र की ओर है और भुजा के मध्य में बैठे
व्यक्ति का मुख कें द्र की ओर है। वे ववभभन्न जानवरों
जैसे मछली, कुत्ता, खरगोश, कबूिर, बत्तखऔर
त्रबल्ली को भी पसंद करिे हैं। वह व्यक्ति क्जसे
मछली पसंद है वह कोने पर बैठा है। वह व्यक्ति
क्जसे त्रबल्ली पसंद है वह बत्तख पसंद करने वाले के
ठीक दायें बैठा है। C, B के दायें से दसूरे स्थान पर
बैठा है, क्जसे खरगोश पसंद है। D का मुख कें द्र की
ओर है और वह कबूिर पसंद करने वाले के दायें से
िीसरे स्थान पर बैठा है। E, D के ठीक दायें बैठा है। F 
ककसी एक कोने पर बैठा है लेककन उसे कबिूर और
त्रबल्ली पसंद नहीं है। ए व्यक्ति में से एक है। E को
बिखऔर मछली पसंद नहीं है।
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Six persons sits around a triangular table such 
that three of them sit at the corners and the 
rest on the middle of the side. The one who 
sits at the corner face away from the center 
and the one who sit at the middle of the side 
face towards the center. They also like 
different animals i.e. fish, dog, rabbit, pigeon, 
duck and cat. The one who likes fish sits at the 
corner. The one who likes cat sits immediate 
right to the one who likes duck. C sits 2nd right 
to B, who likes rabbit. D faces the center and 
sits 3rd right to the one who likes pigeon. E sits 
immediate right to D. F sits at one of the 
corner but does not like pigeon and cat. A is 
one of the person. E does not like Duck and 
Fish. 
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Who among the following likes ducks? 
(a) E (b) F (c) C (d) B (e) none of these

Who among the following sits 2nd to the right of 
the one who is 3rd left of A? 
(a) E (b) F (c) C (d) B (e) none of these
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Six people Tarun, charu, Visakha, Monika, Anko and Viraj 
are born in different years with the current base is taken 
as 2018. None of them is older than 90 years old. They like 
different fruits apple, Orange, Grapes, Cherry, Mango, 
Banana Note- The last two digits or reverse of the last two 
digits of the year in which a person is born can be the age 
of some other person. (Like A is born in 1943 and age of B 
is denoted by the last two digits of the birth year of A. 
Then B’s age will be either 34 or 43). Tarun was born in the 
year 1983. The difference of age between Tarun and Charu
is 21 years. Visakha age is sum of the digits of the year in 
which Charu was born. The one who likes mango is 5 years 
elder to Visakha. Anko age is either the last two digits or 
reverse of the last two digits of the year in which the 
person who likes mango was born. Only one person is 
elder to Anko and Visakha likes apple. The one likes cherry 
is just younger to Anko. The difference between Viraj’s and 
the one who likes cherry is 24 years. The one who likes 
banana was born in an even year. The one who likes 
orange is younger to the one who likes grapes both in odd 
number of years. Monika is younger than Viraj. 

छह लोग िरुण, चारु, ववशाखा, मोननका, अकंो और ववराज
अलग-अलग वषों में पैदा हुए हैं और वितमानआधार 2018 के
रूप में भलया गया है। उनमें से कोई भी 90 वषत से अधधक पुराना
नहीं है। उन्हें अलग-अलगफल पसंद हैं सेब, संिरा, अगंूर, 
चेरी, आम, केला नोट- क्जस व्यक्ति का जन्म होिा है, उस वषत
के अनंिम दो अकं या अनंिम दो अकंों के ववपरीि ककसी अन्य
व्यक्ति की आयु हो सकिी है। (जसेै A का जन्म 1943 में हुआ
है और B की आयु A के जन्म वषत के अनंिम दो अकंों से प्रदभशति
होिी है। िब B कीआयु या िो 34 या 43 होगी)। िरुण का
जन्म वषत 1983 में हुआ था। िरुणऔर चारु की आयु का अिंर
21 वषत है। ववशाखा आयु उस वषत के अकंों का योग है क्जसमें
चारु का जन्म हुआ था। आम पसंद करने वाला व्यक्ति
ववशाखा से 5 वषत बडा है। अकंो आयु या िो अनंिम दो अकं है या
उस वषत के अनंिम दो अकंों के ववपरीि है क्जसमें आम पसंद
करने वाले व्यक्ति का जन्म हुआ था। केवल एक व्यक्ति अकंो
से बडा है और ववशाखा को सेब पसंद है। चेरी पसंद करने वाला
व्यक्ति अकंो से ठीक छोटा है। ववराजऔर चेरी पसंद करने
वाले के बीच का अिंर 24 वषत है। वह व्यक्ति क्जसे केला पसंद
है, का जन्म सम वषत में हुआ है। संिरा पसंद करने वाला
व्यक्ति, दोनों ही वषों में अगंूर पसंद करने वाले व्यक्ति से
छोटा है। मोननका, ववराज से छोटी है।
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Six people Tarun, charu, Visakha, Monika, Anko and Viraj 
are born in different years with the current base is taken 
as 2018. None of them is older than 90 years old. They like 
different fruits apple, Orange, Grapes, Cherry, Mango, 
Banana Note- The last two digits or reverse of the last two 
digits of the year in which a person is born can be the age 
of some other person. (Like A is born in 1943 and age of B 
is denoted by the last two digits of the birth year of A. 
Then B’s age will be either 34 or 43). Tarun was born in the 
year 1983. The difference of age between Tarun and Charu
is 21 years. Visakha age is sum of the digits of the year in 
which Charu was born. The one who likes mango is 5 years 
elder to Visakha. Anko age is either the last two digits or 
reverse of the last two digits of the year in which the 
person who likes mango was born. Only one person is 
elder to Anko and Visakha likes apple. The one likes cherry 
is just younger to Anko. The difference between Viraj’s and 
the one who likes cherry is 24 years. The one who likes 
banana was born in an even year. The one who likes 
orange is younger to the one who likes grapes both in odd 
number of years. Monika is younger than Viraj. 
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Who among the following likes Banana? 
(a) Anko (b) Tarun (c) Charu (d) Visakha (e) none 
of these

Who among the following is the eldest? 
(a) Anko (b) Tarun (c) Charu (d) Vishakha (e) 
none of these

Which of the following combination is true? (a) 
Anko- 1959-mango (b) Viraj- 1983- apple (c) 
Charu-1962-cherry (d) Monika-1995- grapes (e) 
none of these
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Which of the following statement is correct? 
(a)Anko is three years older than the one who 

likes cherry 
(b) Viraj is the eldest 
(c) Anko born in 1959 
(d) Monika is born before Visakha
(e) All are correct

In which of the following year Monika was born? 
(a) 1995 (b) 2000 (c) 2012 (d) 2007 (e) None of 
these
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A certain number of persons sit in a row 
adjacent to each other. Some of them like 
different fruits and others like different 
flowers. Six persons sit between the one 
who like mango and the one who like apple. 
The one who likes rose sit third to the left of 
the one who likes apple. Two persons sit 
between the one who likes rose and the 
one who likes marigold, who is not a 
neighbor of the one who likes mango. Only 
one person sit to the right of the one who 
likes marigold. No one sit to the right of the 
one who likes mango. Note: The one who 
likes fruits faces South and the one who 
likes flowers face North.

एक ननक्चचि सखं्या में व्यक्ति एक दसूरे से सटी
एक पंक्ति में बैठे हैं। उनमें से कुछ को अलग-
अलगफल पसदं हैं और अन्य को अलग-अलग
फूल पसदं हैं। आम पसदं करने वाले और सेब पसदं
करने वाले व्यक्ति के बीच छह व्यक्ति बैठे हैं। वह
व्यक्ति क्जसे गलुाब पसदं है, वह सेब पसदं करने
वाले व्यक्ति के बायें से िीसरे स्थान पर बैठा है।
गलुाब पसदं करने वाले व्यक्तिऔर गेंदा पसदं
करने वाले व्यक्ति के बीच दो व्यक्ति बैठे हैं, जो
आम पसदं करने वाले का पडोसी नहीं है। गेंदा
पसदं करने वाले व्यक्ति के दायें केवल एक
व्यक्ति बैठा है। आम पसदं करने वाले व्यक्ति के
दायें कोई नहीं बैठा है। नोट: फल पसदं करने वाले
का मखु दक्षिण कीओरऔर फूल पसदं करने वाले
का मखु उत्तर कीओर है।
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A certain number of persons sit in a row 
adjacent to each other. Some of them like 
different fruits and others like different 
flowers. Six persons sit between the one 
who like mango and the one who like apple. 
The one who likes rose sit third to the left of 
the one who likes apple. Two persons sit 
between the one who likes rose and the 
one who likes marigold, who is not a 
neighbor of the one who likes mango. Only 
one person sit to the right of the one who 
likes marigold. No one sit to the right of the 
one who likes mango. Note: The one who 
likes fruits faces South and the one who 
likes flowers face North.
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How many persons sit in the row? 
(a) Fifteen (b) Seventeen (c) Thirteen (d) Eighteen (e) Eleven
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Five persons A, G, K, L and S purchase 
some items one after other. Two persons 
bought between A and the one who 
bought Chair. G purchase immediately 
before K but none of them bought Chair. 
Three persons bought between the one 
who purchase chair and the one who 
purchase table. Only two persons bought 
between the one who purchase wallet 
and the one who purchase table. Bag is 
purchased immediately before perfume. 
Only two persons bought between L and 
the one who purchase perfume. K does 
not buy wallet. 

पााँच व्यक्ति A, G, K, L और S एक के बाद एक
कुछ वस्िुएाँ खरीदिे हैं। A और कुसी खरीदने
वाले के बीच दो व्यक्तियों ने खरीदारी की। G, K 
के ठीक पहले खरीदिा है लेककन उनमें से ककसी
ने भी कुसी नहीं खरीदी। कुसी खरीदने वाले और
टेबल खरीदने वाले के बीच िीन व्यक्ति ख़रीदे।
वॉलेट खरीदने वाले और टेबल खरीदने वाले के
बीच केवल दो व्यक्तियों ने खरीदारी की।
परफ्यूम से ठीक पहले बैग खरीदा जािा है। L 
और परफ्यूम खरीदने वाले के बीच केवल दो
व्यक्तियों ने खरीदारी की। K बटुआ नहीं
खरीदिा है।
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Five persons A, G, K, L and S purchase 
some items one after other. Two persons 
bought between A and the one who 
bought Chair. G purchase immediately 
before K but none of them bought Chair. 
Three persons bought between the one 
who purchase chair and the one who 
purchase table. Only two persons bought 
between the one who purchase wallet 
and the one who purchase table. Bag is 
purchased immediately before perfume. 
Only two persons bought between L and 
the one who purchase perfume. K does 
not buy wallet. 
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Who among the following purchase 
table? (a) L (b) K (c) G (d) S (e) A
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STEP I- The numbers which are immediately preceded by symbol and immediately followed 
by an alphabet are arranged in the end of the series in increasing order. (Arranged 
immediate after L) 
STEP II- The odd numbers which are immediately preceded by an alphabet interchange 
their position with respect to the alphabet just before it. 
STEP III- The alphabets which are immediately followed by a symbol are arranged in 
alphabetical order between H and 4 of step II. Note: (STEP II is applied after STEP I and STEP 
III is applied after STEP II)
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What is the sum of number which is sixth 
from right end in step I and eight from left 
end in step III? 
(a) 8 (b) 7 (c) 9 (d) 11 (e) 13

How many alphabets are immediately 
preceded and immediately followed by 
numbers in step II? (a) one (b) two (c) three 
(d) four (e) five

How many symbols are immediately 
preceded by alphabets in Step III ? (a) one 
(b) two (c) three (d) four (e) five
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There are three floors in a given building such 
that floor 2 is above floor 1 and floor 3 is above 
floor 2. In the building there are two flats in 
each floor such Flat A is in the west of Flat B. In 
the building each Flat has an area of 576 ft and 
each flat has some certain number of room and 
no two flat has same number of rooms. The 
area of each rooms of one of the flat on the 
even number floor is 64ft. Total rooms on floor 
number third is seven. The flat which has rooms 
of area of 72 ft is on odd number floor. Number 
of rooms in the flat which is exactly below 9 
rooms flat is 288 ft. There is only one floor 
between the flat who’s each room area is 192 ft 
and the flat whose rooms area is 72 ft. There is 
no flat on the west of the flat having 6 rooms. 

ककसी ददए गए भवन में िीन मंक्जलें हैं जैसे मंक्जल
2 मंक्जल 1 से ऊपर है और मंक्जल 3 मंक्जल 2 से
ऊपर है। इमारि में प्रत्येक मंक्जल में दो फ्लैट हैं
जैसे फ्लैट ए फ्लैट बी के पक्चचम में है। इमारि में
प्रत्येक फ्लैट 576 फीट का िेिफल हैऔर प्रत्येक
फ्लैट में कुछ ननक्चचि संख्या में कमरे हैं और ककसी
भी दो फ्लैट में समान संख्या में कमरे नहीं हैं। सम
संख्या िल पर एक फ्लैट के प्रत्येक कमरे का
िेिफल 64 फीट है। िीसरी मंक्जल पर कुल कमरे
साि हैं। क्जस फ्लैट में 72 फीट िेिफल के कमरे हैं, 
वह ववषम संख्या वाली मंक्जल पर है। 9 कमरों के
फ्लैट के ठीक नीचे वाले फ्लैट में कमरों की संख्या
288 फीट है। क्जस फ्लैट के प्रत्येक कमरे का
िेिफल 192 फीट है और क्जस फ्लैट का िेिफल 72 
फीट है, उसके बीच केवल एक मंक्जल है। इसके
पक्चचम में कोई फ्लैट नहीं है। फ्लैट क्जसमें 6 कमरे
हैं।
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There are three floors in a given building such 
that floor 2 is above floor 1 and floor 3 is above 
floor 2. In the building there are two flats in 
each floor such Flat A is in the west of Flat B. In 
the building each Flat has an area of 576 ft and 
each flat has some certain number of room and 
no two flat has same number of rooms. The 
area of each rooms of one of the flat on the 
even number floor is 64ft. Total rooms on floor 
number third is seven. The flat which has rooms 
of area of 72 ft is on odd number floor. Number 
of rooms in the flat which is exactly below 9 
rooms flat is 288 ft. There is only one floor 
between the flat who’s each room area is 192 ft 
and the flat whose rooms area is 72 ft. There is 
no flat on the west of the flat having 6 rooms. 
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What is the area of a room in Flat A on floor 2? 
(a) 94 (b) 92 (c) 96 (d) either (a) or (c) (e) None of 
these

What is the total number of rooms on floor 2nd? 
(a) 12 (b) 14 (c) 13 (d) 15 (e) None of these

Which of the following statement is true? 
(a)Total number of rooms on floor 2 is 14 
(b) Area of each room is 94 ft of flat A on floor 1 
(c) Total rooms in Flat A of all three floors is 17. 
(d) All are correct 
(e) None is correct
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What is the area of room of flat B on floor 3rd? 
(a) 144 ft (b) 140.5 (c) 138.5 (d) 142 (e) None of 
these

How many rooms are there of the west of the 
flat whose each room area is 288 ft? (a) 6 (b) 4 
(c) 3 (d) 8 (e) None of these
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In step 1: all the even number (input) are multiplied with 2 and all 
the even numbers are multiplied with 3. Step 2: Is given in the 
pattern as firstly the numbers are subtracted and then added 
respectively. Step 3: The resultant of the multiplication of its digits 
in the previous step. Step4: The numbers in the previous step is 
divided by 2. 
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Point A is 16m to the East of Point B. Point D is 6m to the South of Point B. Point E is 4m to the North of Point 
A. Point C lies exactly between Point A and Point B. Point G is 8m to the East of Point D
त्रबदं ुA, त्रबदं ुB के पूवत में 16 मीटर है। त्रबदं ुD, त्रबदं ुB के दक्षिण में 6 मीटर है। त्रबदं ुE, त्रबदं ुA के उत्तर में 4 
मीटर है। त्रबदं ुC, त्रबदं ुA और त्रबदं ुB के ठीक बीच में है। त्रबदं ुG, त्रबदं ुB से 8 मीटर दरू है। प्वाइंट डी के पूवत

Q21. In which direction is Point G with respect to Point E? 
(a) North (b) Northeast (c) South (d) Southwest (e) Cannot 
be determined

Q22. What is the shortest distance between Point G and 
Point A? (a) 8m (b) 9m (c) 10m (d) 12m (e) None of these

Q23. If Point H is 8m to the West of Point E, then how far is 
Point H from Point G? (a) 4m (b) 8m (c) 10m (d) 12m (e) 
None of these
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In a family of seven members there are four female members. H is the mother of J. E is sister-in-law of H. L is 
the only brother of E. M is the father of L. K is sister of J. N is mother-in-law of H. 
साि सदस्यों के एक पररवार में चार मदहला सदस्य हैं। H, J की मााँ है। E, H की भसस्टर-इन-लॉ है। L, E का 
इकलौिा भाई है। M, L का वपिा है। K, J की बहन है। N, H की सास है।

Q24. How is J related to E? (a) Niece (b) Nephew 
(c) Sister (d) Brother (e) Either (a) or (b)

Q25. How is N related to K? (a) Aunt (b) Mother 
(c) Grandmother (d) Daughter (e) Cannot be 
determined

Q26. How is M related to H? (a) Uncle (b) Father 
(c) Brother (d) Father-in-law (e) None of these
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Q27. If “summer is hot” is coded as “mo ka pa”, “may is summer” is coded as “ti ka mo”, 
then “hot may” will be coded as? 
यदद "समर इज हॉट" को "मो का पा" के रूप में कोड ककया जािा है, "मे इज समर" को 
"टी का मो" के रूप में कोड ककया जािा है, िो "हॉट मे" को तया कोड ककया जाएगा?
(a) ka mo (b) mo ti (c) pa ka (d) ti pa (e) Cannot be determined
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Q28. How many pairs of letters are there in the word” WINTER” which have as 
many letters between them in the word as in alphabetical series? 
शब्द “WINTER” में अिरों के ऐसे ककिने युग्म हैं क्जनके बीच उिने ही अिर हैं 
क्जिने कक वणातनुक्रम में हैं?

(a) One (b) Two (c) Three (d) Four (e) None of these
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Q29. If all the alphabets are rearranged within itself as they appear in the English dictionary 
in the word “TELEPHONIC” then which of the following will be third to the left of eighth 
from the left end? 

यदद अगें्रजी शब्दकोश में "TELEPHONIC" शब्द में सभी अिर अपने आप में व्यवक्स्थि हो 
जािे हैं, िो ननम्नभलखखि में से कौन बाएं छोर से आठवें के बाएं से िीसरा होगा?

(a) H (b) I (c) L (d) N (e) None of these

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Q30. Find the odd one out? 
(a)ACE 
(b) FHJ 
(c) KMO 
(d) PQT 
(e) UWY
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Seven persons M, N, O, P, Q, R and S like different movies viz. 
Dangal, Dabangg, Veer-Zara, Gangajal, Airlift, Ram-Leela and 
Barfi. All of them like different channels viz. Colors, Zee, Sony, 
Star plus, HBO, MTV and UTV(but not necessarily in the same 
order). P likes Veer-Zara. O likes Sony Channel. The one who 
likes Ram-Leela likes HBO. Q likes Gangajal movie but does not 
likes Colors or Star plus. The one who likes Veer-Zara likes 
channel Zee. S likes Barfi but does not like Colors channel. R 
likes UTV but does not like Dangal. M likes movie Dabangg.

साि व्यक्ति M, N, O, P, Q, R और S अलग-अलग कफल्में पसंद करिे हैं अथाति।
दंगल, दबंग, वीर-जारा, गंगाजल, एयरभलफ्ट, राम-लीला और बफी। उन सभी को
अलग-अलग चैनल पसंद हैं जसेै। कलसत, जी, सोनी, स्टार प्लस, एचबीओ, 
एमटीवी और यूटीवी (लेककन जरूरी नहीं कक इसी क्रम में हों)। P को वीर-जारा
पसंद है। O को सोनी चैनल पसंद है। वह व्यक्ति क्जसे राम-लीला पसंद है उसे
एचबीओ पसंद है। Q को गंगाजल कफल्म पसंद है लेककन कलसत या स्टार प्लस
पसंद नहीं है। वह व्यक्ति क्जसे वीर-जारा पसंद है, चैनल जी पसंद करिा है। S को
बफी पसंद है लेककन कलसत चैनल पसंद नहीं है। R को यूटीवी पसंद है लेककन
दंगल पसंद नहीं है। M को कफल्म दबंग पसंद है।
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Q31. Who among the following likes movie Ram-
Leela? (a) M (b) N (c) R (d) O (e) None of these

Q32. Who among the following likes channel 
Star plus? (a) The one who likes Dabangg (b) N 
(c) The one who likes Airlift (d) The one who 
likes Barfi (e) None of these

Q33. Who among the following likes MTV? (a) P 
(b) S (c) The one who likes Gangajal (d) The one 
who likes Dabangg (e) None of these
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Q35. Which among the following combination is 
correct? 
(a)M - HBO 
(b) R – Ram-Leela 
(c) Gangajal - Colors 
(d) All are true 
(e) None is true

Q34. Which of the following statement is true? 
(a)O likes movie Ram-Leela 
(b) S likes channel MTV 
(c) The one who likes Dabangg likes Colors 
channel 
(d) The one who likes Airlift likes channel Star 
plus 
(e) None is true
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